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Convert measurements of length within the metric system
! - (3-10) 47
hall sl fags Jalall Sl  pigoet

3. 700 cm = m 4. 8,500 mm = m

5. 5 km = m 6. 73.000m= km
7. 2711 m= mm 8. 92m~= cm

9. 175 mm = cm 10. 0.509 km = m

Convert measurements of mass within the metric system
2 {5-12) 761
Gl i (s AES) dd by
5. 2,000 mg = g 6. 80g = mg
7. 0.75 kg = mg 8 6kg= g
9. 3,100 g = kg 10. 0.05 kg = mg

M. 407g= mg 12. 9 kg = g




3 Collect and organize data {6-9) 794
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Make predictions from data

{12-15)
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Find the median and mode of a set of data
(2-7) 843

il de gaceal Jigtally bl Slae!

lbile de godes (ST Jghiedly Jdomew gd) .\q—,i

la¥l pld) olels,) .2
69, 72, 74, 73, 73, 72, 75, 73, 70, 71, 90, 72, 91

731-81 42 72 81, 73 Y J-L-Lun | PR S | o3

ola¥h eNLLY) Job .4
0,27, 0,15, 1,19, 052, 0,50, 0.20, 0.04

) 2L L)) 5
207, 198, 187, 201, 178, 200, 196, 201, 197, 204

2,13 2 4 1 1.0 :20L80 asluJ .6

6,10, 10, 12, 10, 11, 4, 6, 8, 9, 2 -cula),ols sand) .7




Classify two-dimensional figures based on properties
7 ¥ ¢ prop {2-9) 879
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s Classify triangles based on attributes such as side measures and angle measures Example-2- tis+(1,2) 890
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|dentify and describe parts of a circle {center, radius, diameter, chord) Example-2-ta 898
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4. r =42 mm 5. r=29m
6. d =100 dm 7.d=36 cm
8. r=35m 9.d=48cm
10 Describe the properties of three-dimensional shapes (3-5) 926
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1 Display measurement data as fractions of a unit and equivalent fractions on a line plot (251 735
dmazeall LU ol Loatll § S8R0 5508l By j3a (ol Sl (8

IS )] o gl @ . Jgdar S 8 Aoeid gl) Slwlal) dagoned) Jolaiil led) Juie) gyl

.2
dme L L b 1 A
3 4 3 3 2 34
e gl L 3. A
F 4 2 Z T 3
sanals, ) -y =1
.3
= o — B A L T T
< g Sliad) gl D lade
AN M A N R e o
E B8 2 2 4 ® 4 @8 |.4
E 12 2 1 3 2 1 7
& 2 B 4 8 4 4 B
s 0T Lo ) Py |
5

1
4
=
2

| |
[ e
O 1
wl= =

F 3

ZALS N d))

Convert measurements of capacity within the metric system
12 ooty i {13-18) 767
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13. 2L O 1,000 mL 14. 390 mL O 039 L 15. B2 L O 825 mL

16. 834 mL Q 834 L 17. 034 L O 430 mL 18. 87 mL O 0.087 L




Solve problems of metric and imperial measures by using logical reasonin
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1a Analyze and interpret data in a line graph ({11-15) 818
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(7.8)

Find the mean of a set of data

{4-6]
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15 Interpret line plots (1-3) 849
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19 Classify quadrilaterals based on attributes such as congruent sides, parallel sides, and right angles (10,11) 912
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I 20 Use volume formulas to find the volume of rectangular prisms {3-8) 937
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Display measurement data as fractions of a unit and equivalent fractions on a line plot
n Pay d L (3.4,7) 738
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2 Find the mean of a set of data (11.12) 838
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Describe the properties of three-dimensional shapes
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